K.enlK e'1qi AbgiZ inmie dig

BDIbg t 6 bs kmRinibci BDbgh ciil”, DetRj-giaeci Rj-nielA|

: - T T cieZreQtii
! Aigi LZ e | han | B
L | bR D
L1 | oRZ Znej 57600.14 234314 2102.14
12 | enZeii Dei Ki 3,30,614/= 3306141= | 326,755=
13 | enzeoii Dci etKo Ki 65,179/=
L4 | tcki I e'emi Dei Ki 60,000/= 50,000/= 35,550/=
15 | Rbenbid 20,000/= 17,657/=
L6 | Tei modE n SiKi 10,00000/= 6,00000/= 5,9,078/=
L7 | il BRuiv eie 40,000/= 30,000/=
L8 | eRiBRirer’ Ag 60,000/= 50,000/= 22,156/=
19 | RbigZ idn 40,000/= 40,000/= 21,205/=
1.10 Mg Aryj 1d 2,000/= 2,000/=
2| miKiimiT o
2.1 | eaZ modeK eirl/Gj.R.Gm.ic-2 25,00000/=
22 | KilLzZ 2,00000/=
23 | 1Lz 1,95,000/=
24 | g 1beRiZK 5,000/=
29| il Lz 20,00000/=
26 | kfiLz 2,00000/=
2.1 | eftich 1,00000/=
2.8 | agqcizb 50,000/=
2.9 | eiRii Dbgp 1,00000/=
210 | Adn tgiigZ 1,00000/= 1,00000/=
3 msich LiZ
31| yigh 1w fiz 3,30,000/= 3,30,000/=
3.2 | Kopiirtezb fizy 5,00000/= 4,93,000/=
33 | b 50,000/= 15,000/= 47 820/=
Tng: 54,40,214.14 46,25,193.14 | 10,52,666.14
LenlK ¢'tqi AbgiZ inmie dig
BDIbg t 6 bs kinRimbei BDIbgD ciil”, DeiRji-giaeci, iRji-neliA]
! il e
L | msich
11| pgigibmnti oz 330,000= 330000= | 237,750
12| Kgpin'i fezb fiz 5,00,000/= 193,000/=
L3 | Ui- Aig Kigkd 66,000/= 59,369/= 57,072/
14 | AdnKoUbiRYy 70,000/= 50,000/= 31,162/
LY | PEwttrd fizi 20,000/= 15,000/=
16 | g fizs 15,000/= 12,000/= 3400/=
L7 | Acigbeq 65,000/= 50,000/= 24531/=
L8 | KiedDUii mkao g 30,000/= 25,000/=
2 Dhab gjK e 2500000~ | 5,18,561/=
21 | il Lz 25,00000/=
22 | KlILZ 2,00000/=
2.3 | kqiLiz 2,00000/=
24| T I mubivkd 3,00000/=
2.5 | eiRii Dogb 50,000/=
2.6 | AdnigigZ 2,00000/=
2.1 | eftich 1,00000/=
3 | Abib'eq 5,00,000/=
31 | eriej 15,000/= 12,000= 5,904/=
32 | {Ujidbej 2,000/= 2,000/=
3.3 | cikiehichej 12,000/= 10,000/= 7,125/
34 | cPiee 20,000/= 10,000/=
35 | Rizig Abdib ALjtaijy 20,000/= 20,000/=
36 | AKTKeq/ 20,000/= 20,000/= 12,000/=
3.7 | Ribree 8,400/= 8,400/= 7,000/=
3.8 | €K Kigkh 6,000/= 3,000/= 1,884/=
39 | i 30,000/= 30,000/=
310 | iz 30,000/= 20000= | 1,00000=
311 | Abiy 177464/ 70,241/= 1,18,326/=
o = 49,86,864/= 42,40,010/=
DOE = 4,53350/= 3,85483/=
meing = 54,40,214/= 46,25,493/= | 10,50,564/=




